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2.6 YF(p,n)NeOOOOO

YF(pn)°Ne00000,000000000000000000000000,0000000
000000000000.00 “Fp,n)®NeDOODOODO0O0D000D000000D [26], [27),
[28)000.000,003000000000000.

[26) 00000
;\ T T T T T T T T T T
2 40+ . b
z ) “\1 \ J‘ }'\f
s | ‘ \ {J\ / . |
35530— u -
lﬁ
d 1Y
9 4
& v
: 201 f
[ f{ 1 1 1. 1 1 i 1
5 7 8 ] 10 11
LABORATORY PROTON ENERGY (MeV)
Fig. 3. The total F*(p, n)Ne'® cross section as a function of proton energy.
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Fig. 3. The absolute total cross section for the reaction *F(p, n)'?Ne as a function of proton
The energy resolution is 45 keV at 5.0 MeV.
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FIG. 4. (a) Total cross section for the '*F(p,n)!*Ne reaction,
from this work (open dots) and from Ref. 18 (closed dots). The
uncertainty on the data of Ref. 18 is £15%. (b} Thick target

yields from the p + '°F reaction from this work, for the produc-
tion of '*Ne (closed dots) and of *O (open dots).
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Fig. 4. The 90° yield curve for the reaction
2C(p, v,)'*N. The solid lines are fits to the data as
described in the text. The narrow peak at E, == 15.1 MeV
is due to the first T = 3/2 level in '*N. The errors shown
are purely statistical and do not include a +25% uncer-
tainty in the absolute normalization.
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Fig. 2. Upper part: The C**(p, n}N!* reaction cross section (per unit solid angle) at 0°. Abscissa
and ordinates are given in the laboratory system. The open triangles represeat the cross section
to the ground state of N' only, the dots the cross section for all neutrons. Lower part: Total
cross section of the C13(p, n) N reaction to the ground state of N' as a function of the proton la-

boratory energy. The open circles rep P Th Macklia *)
(G), Blaser #f af. %) (B), and Whitehead and Foster 7) {W) are also shown for compasison.
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FIG. 4. (a) Total cross section for the F(p,n)!’Ne reaction,
from this work (open dots) and from Ref. 18 (closed dots). The
uncertainty on the data of Ref. 18 is +15%. (b} Thick target
yields from the p + '°F reaction from this work, for the produc-
tion of *Ne (closed dots) and of *O (open dots),
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0000000000 0O00DO0O00 coincidence0O0O0O0OO0OO0DOO0O

gooooboooooooboooobooooooobooooboobooobooboobooooboooo
gbooooo s31gbooobooboboooooboon

goooobooooo : 5.0mm
0000000 No20OOO : 25mm
O000000 No.7000 : 68mm

PMT No.2 00O : -1800V
PMT No.7 OO : -2000V
0000000000 : 3.0 x 10~ %Torr

03100000000o00o0n
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3.4.2 00000000

000010000000003.7000.00 cout0O00OO0O0OO0OOOOODOODOO beam on
000,000 cout 000000000 ,count 00000000000 beamoff 100 .
0370,0000000000000(0000O000O0O0O0OO0OOO0OO)PTFEOOOOOO
00 protonbeam OO0 0000000 DOOO0DOODODO.
03700000000,000000000000 1/200000000000 beam off O
g0o00booooobOonb oosec0O00ODODO,0D000000D0O0O0 38000 DOODOOO
0.00000000000000 countd NOPoisson 0000000 OOOOOO,0000
ggo \/N—/8+1/2DDDDEIEIEIEIDDD (00 100000o0oooooooon).
038000000000 beamoff 01OOONO background DO O count 0000000, O
0000000000 (D0)000000000000O000o000oUooOoUOoDooog.

1000 T T T T T
"C-001.txt"

100

cps

10

| ‘ | ~II|

0 200 400 600 800 1000 1200
time(sec)

1000 T T T T T
"C-001.txt" —+—

100 | k|

cps
-
o
T
1

-
—_——
—
—
——
—t
—_—
——
—t—
—_—
——
——
——
—t—
e
——
—
—t—
—t—
—
——
—t—t
—t—
!

0.1 L L L L L
0 10 20 30 40 50 60

time(sec)

O 3.8:
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3.5 0O0OODO 1B

3.5.1 000000

SUFL—f—

—[PIIT No. 7]

PNT No 21— Ga— R ERELIE

<——10MeV proton

039 0000 1BOO0O0OODOOOO

0000 1A0000D0D0DODODDODOODODO PTFEOOOOOOOOO ¥NeOOOOODOO
000000D0000000000 YNeOOOODO PTFECOODOOOOOOOOOOOOOO
gbooooboooooobooobooobooooooooooOoooooobooooboooOooboboon
00000000000000000O00 PTFEOOOOOOOOOOOOOOOODO1IACDO
ooooDOo0o00ObeaemOD0OOO0O000DOODOOOO0ODOOOOOOOODODOOOODOOO
ugbo32b000000000000000

oooooooono : 5.0mm
0000000 No20OOO : 25mm
O000000 No.7000 : 68mm

PMT No.2 OO ¢ -1800V
PMT No.7 00O ¢ -2000V
oooobooogoo : 3.0 x 10~ %Torr

03200000000000A0

3.5.2 UO0O0OO0OO0OOOO

03800000000000000000000 PTFEODDODOOOOOOD ¥Y*NeOODODOO
OO000O0DoOoo0O0ddO,protonbeam 000000000000 DOCOOO0OODOC PTFEDO
0000000000, PTFEODOOOOOOOOOOOODODOOOO ¥NeDDOOOOOOOOO
000000.Ned PTFEODODODODOOOOOOOODODD,000000 ¥YNeOODOODOO
oboboooooobooboooboboo.coooboobooooobodiooon.

031000000 beamoff 0000 0secDO0O0O0D0OOO0O,00000 ,background 0000
ooo0oO00 3.110000000000.00000000000000 count O N O ,Poisson
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000000000000 0,000000000 10000000000000 4/N/3+1/20
gboooooboooo.
031100000000 IsecO0 20sec0DOODOO

y—Ax2 7
000000000 At000 (it00000000 3.11000). it00oo0oooo

Ti2 = 3.8+ 0.2sec
A 37.0 + 1.4cps

gooo.

10000 T T T T T T

T T
"G-001.txt"

1000 E

100 k!

cps

10 | E

ke T Wl

0 50 100 150 200 250 300 350 400 450 500
time(sec)

O 3.10:

o7



10000 T T T T

f(x)
"G-00L.Xt" +-—t--
1000 E

cps

01} | y i ]

0.01 E

0.001

0.0001 L L L
0 10 20 30 40 50 60

time(sec)

O 3.11:

3.5.3 U0UU

gO0000o0oO0O0o000PTFEOOQOOOOOODO proton beam OO0 OOO0ODOOOOOOO
00000000 (0000000000000 0O000O00O)PTFEODOOOOOODOOODO
0000,000000000 ¥YNeOOOOOOOODODODOOODDDOOO.

goooooooooooOoo.GOOoDOOOoO0OooODOO0oOoOoD g2000000DOOOOO
GOOOoOOoOOoOOoOoOoOoOoOoOooooopoooOoOOOOO,000000000000000O0O
00000000,000000000.0000 ¥NeOOOOOOO,0000 GOOOOOO
0000000000000o0U00o00U00o0000o00o00o0oUooOoO (PTFEOOOOOO
000000000000000000,Ne000000O0O0O0OOOODODOOOOODOON).

000,00000000000000000000 Harver foll0O0000,0000000
o00000000000000000000,00000 proton beem OO0 0OO00OO0DOO
OHarver foil 000000000000 O0OD.00000O0ODOOCO0O0OOOOOOODOOO
gboooooobooobooboboo 200000000,
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3.6 UUOO2

3.6.1 0O0O0OOOO

Go— X EgELIE

havor foil

<—12MeV proton

faEf &

PHT No_T}= —{PIIT No.2

SUFL—H—

U 312:. 0000 20000000000

0000200000 1ABO00O0O0O0O0O0O0O0OODOO0ODOOO ¥YNeOOODODDOOOODOO
0000000000 1ABOOOOOOODO0OOOOOO0O0OODO0DO0DDOOO0DOOOO0OOOO
Harver foil 00 000000000000 OOOOOCOOO0O0O0O0O0OOOOOOOOO0O00OO
000 12MeVOOOOODO proton beeam OO0 00000000 OOHarver foil 00 OO0O0DO0O
gooogoooooobooobooboobobooboooooooooooboooboobobooooooo
o000D0o00000ooO0O0000DbO0o00000D0O0O0000D00 coincidence 0000

gbooooboo33boooobooooboobonog

gooobooooo : 2.7mm
O000000 No.l1OOO : 3lmm
0000000 No20OOO : 78mm

PMT No.1 OO ¢ -1840V
PMT No.2 O[O : -2300V
oooobooooo : 5.0 x 10~ "Torr

03300000o0o0o0oa0nn
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3.6.2 0OO00OO0OOOO

0000 2000000000 3.13,03.14000.00count0000000OOCODOOO
beamon 000 ,count 00000000 0,count 00000000000 beam off 10O

03130,000000000000000000ODODODOO,03.140,00000000000
000oo00o0ooo0.0c0fjoooooooodoooO,0opo00o0ooO0ooooD Goo
0000000ooooooo0o000o0oooooooooooooooooooooooDoooo
o00ooooooooooooooooooon.

031300000 beamoff OO0 OsecO0O00D0D0OCODO, 0000000000 315000
0000000.00000000000000 countd NO,Poisson 000000000000
o,0000000 \/N—/2DDDDDDDDDEID (000000 1000000000 count O
oooooo,00o00oo).

3.6.3 00 (*NeDDODODOOOOO0O)

031500000000 0secdO 30secdDOOO
ot
y=Ax2 T2

000000000 fit000 (t0D0000000 3.16000).

fit0ooooo

Ti2 = 15.0+£0.2sec
A = (40.540.2) x 10%cps

gooo.

PUNeODOOOOOOO 17.3sec000,PTFEOODO proton beam D0 00000000000
00o000ooooooo0odoooooooo, 00000000 0ooooooDoo0 PTFEODO
O proton beam 0000 ,YNe0000,0000000000000000DO0O0OO (00,00
0000000000 0U00o00000UoD (0)0D0U00O0DO00DOoUOooDoOoDoOO,s0O0
000000o0O0U0oOo0o0ooOoOoUo,0oooUooon).
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cps

cps

100000

10000

1000

100

10

10000

1000

100

10

"1927P143_1.txt" —

1
600

w o

time (second)

U 313: 00000000000

1000 1200 1400 1600 1800 2000

o

"1006P143.txt"

| . . . .

100 200 300 400 500
time(sec)

0 314: 00000000000
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cps

cps

100000

"1927P143.1xt" ——

10000

1000

100

10 I I I I
0 50 100 150 200

time(sec)

O 315: 000000000000 0DO0000D0

100000 T

f(x

"0t030.txt" --—+---

10000
0 5 10 15 20 25 30

time(sec)

0 3.16: 71 (Ne) O fit
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3.6.4 YNeOUOOO

00000020 ¥NeDO PTFEOOO0O0OOO,0D000000000D0O0OO0O0O0O0O00,O

000000000 ¥YNedO00OO0OO0OO0OO0OO0OO0DODOODODODOOOOOOOO.

e 00 t00D0D0D0D0D0D0D0DO0D0DOOOOOOOOOOO ¥NeODODO N#)DODOD.OOO,

gboooobooooboboooo,0coboooobooboooboooboon.

gboooooboooooboooog.

00,00000000 AN DODODO.

000000000000000 ¥NeDODD QOOD.QO,0000000000000

00000000000000000 ¥NeD,0OOOOOODDOOOOO /,000.00

00000000000000000000000000000 YNe000,000000

0f£00000000,,N@)000.00000,000000 ¥NeOO N@)OOOO,
0000000000 ¥Ne00000000,0000000000 ¥Ne000,0000

00 ¥NeOO N(t)0ODDO00O0O0O0OD0.

go.

go.

ooo,
000000000000000 ®¥NeOO N¢)ODOOOOOOOOO,

SN =+@ ~ (i~ IN() ~ TN ()

000,00000 N(t=0)=00000,f=f—f000,

N(t) = ; f T (1= e Vo

000,000

~
+
Sy

oooo.oo,
00000000000O0O0O0O0O ¥NeOO N()OOOOOOOOOO,

d 1

—N@)=—(f1 — f2)N(t) — =N(t

SN(0) = (i = RIN() = ~N(1)
000 (00000 UO0O00)00,00¢t=T000000O00O0OOOO,N(E=T)
ooao,

N(t) = Qlef(fnL%)(th)
[+

gog.
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00000 0000 “NeOOOO 1/r000.70 ¥NeO OO D000 7=25.02[sec] O

0000000000 ¥YNeOOOOODOOOOOOOODODOOODOOOOOOO w0

(3.9)

(3.10)




obooo,r000000C0O0O0,00000000000O0DOO0O0C0ODOOO,000000AO
0000000000000 00000000000DOo0ooOUOoOoOoD f(=A-f)0000.
00o000o0oooOo0o0o0ooOoO0o0oU00oooOOooUO0DLD MyyOOOO, 00000001
0000000000000 200000000000000OO0O0OODO g0ODOO,M(t)0O

M(t) = g-> ZN(t) (3.13)

goooooooo.

gobooboooooobooboooobbooboooobobobobooboooDbooD MyO,0
goooooOoOoOoOOO0OO0O0O0O0OoO0oooOoOOOOODODODOO0000 wBDODO fOO QO
goo.

1
My g%;—f _CE T (3.14)
Q = (1+f7)§4§M0 (3.15)

000 wOO0OOO0ODOO0ODOO0OODODOODODOODODOOOOODODOODODOOODOO.O0O,000
go0d0bl10bdbooboob0ooooo0oo020000b0obO0oboOooDbOobOoObObDOoo gOooO
odopoodpooooD,0pDo0oDo0oooooooon.
ooooooooo:
()0000000000000000000D0O00D0O ¥YNeOOOOOOOO,f,,000000
00.AN@DOODODODOO0DO0OO0O0O00oo.
(2)00000000000000000 (Dsec00)0000000,00000000 QOO
oopooooag.
0000000000,Ne00 N()OOOODODDOOODOOOOODO.
o0,03.1300000000000000000O0O00O0O0OO00.O0000 3150000
goodd 0secOD 30secOOOd

at

y=Axe"

goooooooo sto0o0O. 000000

a = 0.046 + 0.00048
A = 40522.6 +217.2
000,000
f+= = 0.046 +0.00048 ~ 0.046
My = 40522.6+217.2 ~ 4.0 x 10*[0 /sed].

T =25.02sec 0 00O
f=6.0x10"3.

0000, 00d00do000o0U0o0D0U0o0oo0o00oUDOoooOoDOoooOooDoOooO
w~8x102000
47

T % 40x 10
Bx103) xdr

1
Q = (1+(6.0x1073) x 25.02) x e

5750600 _ 5.8 x 10°
g g

[0 /sec]
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000.0000000000010000000000000,20000000000000
0000000 ¢g004000,00 proton beam 000000000 12MeVO O O0000O0
100%00 NeOO 000 1.3 x 108[0 /sec) (00 1 =100pA)) 000.000000000000
000 I~25mA)(FC40)0000000,

5.8 x 106 1 100

— x1
0.4 X 1.3 x 108 X 25 X 100

44.615- -

12

44.6%

gooooo.
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3.7 U000

3.71 0OOO0ODODO

8=ty kALS—

<— 10MeV proton

2wk

DB i S

— HERVT

0317 000000000000

0000 ®NeO0DOODOOO0OO0O0OOO0OOO0OOD 1020300000000000YNeOOODO
000000200000000000000000000000000 10MeVODOOOOOO
proton beam 000 000000000000 O00O000OO00O0OO0O0O0O0O0O0OOOO Harver
foil 00 0000000000000 00000 PTFEOOODOOOOOODOODOOOOOOO
000000000 100000000000000000000000000000000 20
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gbooooooboooz20000000000000b000bO000bO0O0O0O0bOOOobObOOboboOn
o000 300000Oo0oooOoooOoOoooOoO0OoO pooOobOOoOOoOOObOOOoODO
gbobooobooooobooobooboooooobbooobooboooobooobooobooaon
gbooboooboooooooooboobooooooboooooooobooobooobooaon
000000000000 0DOO000DODO000 coincidence 0000 OO0OOOO

gboboooboobooboooobobo1obbooboooooooboooboooobobo 200
gboboos3boboooboobooobooooboobooooooooooooobooobooaon
000000000o00o0o000o00o00o0oU0oo00o00 (DoooO0DoooUooooOOo
00)0oooooUooOoooUoooooooo

000000000000 ¥Ne0D 000000000000 DOOOOOOOOODODOOODOO
gbooooboobooooob s40b00000b0o0oo0ooboooboon

000000 No.1,No2OOD : 2.7mm
000000 No.6,No7OOD ¢ 5.0mm
000 No.lDODOO No6OODO : 32mm
000 No2DODOO NovOODO : 25mm
OO0 No.lODDODOO No20OOO : 140mm

0000 1000002000 : 1030mm
00002000003000 : 1320mm

PMT No.1 OO . -1930V

PMT No.2 00O : 22070V

PMT No.6 0O . 22170V

PMT No.7 OO . -1690V

0O00o0o00o0 . 0000 (250pm)+0000 (78um)
0oooooooo : 2.0 x 10~ 5Torr

034000000000000
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obooooogoo

oo0oooooooo GgoooooooooooooOoOoOOOOOOOOOOOOODROD
gbooooboooooobooooboboobooboon

0000000000 00DbO0O000D0 Haver foll DO0O00ODOOO0O0DOOOODOOOO
000000000000O0U0o0O0o0o0ooO0O 200000 (3.1.3) 00000000000 PTFE
gbbooooobooooobooboobooboboobobobooo 1b203000000000

gboooobooooooooboo

goo0o000DOOo00DOO0O00DO0O0D0O0O0D0C0ODOD000 coldfinger0DO0OO0ODOOO
O00¥NeODOOOOODDOOOODOODOOODOOOOOOOOOOOOOOPTFEOOOODOOOD
BNeODODOODODOOOO0OO0D0DO0000000O0O0OO PTFEOOOOOOOOOOOOOOOOO

gbooooooboooooboboo

77

iy tERE

havor foil

0318 gobogobooooaboo

68

FaiT—

by 7

—S\Vadrne—U| U

F_l

(0

Ay bl

A=y bRy IR

<—beam

0 3.19: NeO OOO



ooooon

ooooooooooooooooosommODOO00DO0O0000O000D 4000000
gboooooooooobooooboboooboboooooboooboOoboooboob 00O
oboooobooooooobooobosoommOOO0O0O0O0O0O0OO

0000000000000 D000000200000000000YNe00000000O0O
gbooboobobooooobooooboobooog

O
I e S
O

M E A IER k=g pitv eyl

0 s R s |
[

BB R — A BTE R k2

0 320:00000

oooo 3

gboboobooooootosoobooooboooooooobooobooooooboooon
O0¥NeDDOOOOOOOOOOODOD(DDODDODOOO0O0)0000D0DDOOOO0OO0ODOO00O00O0OO
3000000000000000 ¥YNeOOOOOODODOODODDODODDODOOOOOOOOOOOO
obdooooo3boobobooooooooooosgooooooobobooooooooooon
gbooooooboooooboboooboobooon

0 321: 000030000



ooo

0000 ¥NeDDDDDODDODDODOODODODDDODODODODOODODDOOODOODODODODOOODOO
gbobodooboooboobobooob1o20300b0b000o0ooooooboooboooogooo
gbooooboooooooobooobooboooooboooobooOoooboooboooooboooobooon
gpooboooog

gboboobooobooobooobooobooobooooboooobooooboOooboooo
gbooboobooooboobooooobobooobooboooooboon

BEzZEs|HLO
1

;J?:
ilﬁl -~
= I it
N B
A

0 3.22:. 000

[[ R O T=—— e
, <AL OA—%
SUFL—4

0 323 0000
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3.7.2 0OO00OOOOOO

obo,000000ob00bobobo011200,00000 1200,00000 120000,0000
gsfibofdboo.o324booboooooo,ooooboobooboooobooooob. oo
gbooooboooooon

B.G.=3.1+0.79 cps (3.16)
gobooboobobobob.ooobooboobooboo,
Ay = 0.715 ~ AB.G. (3.17)

gbo,00ocoboobooooboooboobobog.
000,00 ¥NeOOODOOOODOOODOOODDOOOO,0000 2xAB.G. ~1.58cps
00000000000. 0,2AB.G. 0000000000 0OOOO0ODO 9%4%000.

second

0 32: 000000000
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cps

10000

1000

10

10000

1000

100

10

"0219C001_SUM.TXT ——

20 40 60 80 100 120 140 160 180

second
0320000001
T T T T T T T T T
’0219C003_SUM.TXT" ——

1 1 1 1 1 1 1 1 1

20 40 60 80 100 120 140 160 180 200
second

g 326: 000000 2
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10000

cps

T T T T T T T T
'0219C004_SUM.TXT'
1000 4
100 F E
10 F E
1 1 1 1 1 1 1 1 1
0 20 40 60 80 100 120 140 160 180
second
0327000000 3
100 T T T T T T
'0219D001_SUM.txt’
1
2 10 B
1 1 1 1 1 1 1
0 50 100 150 200 250 300 350 400
second
0 328: 0000004
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100000

T T T T T T T T
'0219E001_SUM.TXT ———
10000 } L L
1000 -
1%}
Q
o
100 e
10 | L
l 1 1 1 1 1 1 1 1
0 20 40 60 80 100 120 140 160 180
second
0 329: 0000005
10000 T T T T T T T T
'0219E002_SUM.TXT’
[
1000 f -
1%2]
S 100 | 4
10 | E
1 L L L L L L L L
0 20 40 60 80 100 120 140 160 180

second

g 330: 0000006
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3.8 U000

3.8.1 0O0O0OOOO

2=y Ry IR

S =
Y URA N

Ay k3

0 33: 0000000000000

00000000000000000 ¥Ne0000D00D0DD0D0DD0O0O0DODOOOOOOOODOO
gboboooboooooooboooobboioooooboo s3soooooooooo 20000000
gboooooooboooooobooobboobooOoooobooobbooobbooooboooboboobooon
YNeOODDOO3000000000000000000D0O00DOOO0O0O0OOOOOODOOO
ooo0b0O0d¢s0000000000000O0DO00DOO0O00DO0O0ODODO0OOODOODOOO0ODO
oboooooooobooobooboooobooobobooboooobooobooboooooboboob 100
gbooogoo 3s0booboobooboooooobon

(0]



obodbdd NelDOODO
000000 No6OOO
0000000 Noe.lODOO
oboob00o0nb Ne6ODOO
gbooi1iooooo 30004
PMT No.1 OO

PMT No.6 OO
gbooogo
gboooooao

: 2.7mm

¢ 5.0mm

: 18mm

: 38mm

: 525mm

: 2080V

1 -2260V
0000 (78um)
: 2.5 x 10~ %Torr

g3s00000000o00non
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3.8.2 0O0O0OODOOODO

00000 ¥NeOOOOOOOOOOD,000000000000000000 ¥NeOOO
gobooboooooooooobooob. oo, 0o0oo0obo0ob0obooboo 200,00000 400,
gbooob20000,0000 1000000.0 3320000000000000000000.
gbooooooboooooboooaa,

y = Ax274T
= 9.36 £0.41 cps
T = 13.0+0.89 sec

000.000000000000000000000000000, ¥NeODOO 9360000
000000000.0,%Ne000017.34000,00000 ¥YNeOODOOOO0OD0ODOOOODO
000,0000 YNeDDOOOODODOO0OO0OODOOO0OO0ODODOOOOODOOOOOO. OO,000
gbooboobooooboobooooboobooboooboooboobo,booo0oboooboaoon
gboboomMoboooobooog,ob,b0obobooboooobooooboooobaon
YNeOOD,000008O0000000O0O.

12 T T T T T T T

cps
o
T

second

0332: 000000000
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100000

cps

10000

1000

100

10

100000

cps

10000

1000

100

10

0223F001_SUM.TXT ——

]

10 20 30 40 50 60 70 80
second
0 333: 00000001
' ' ' ' ' "'0223F005_SUM.TXT ———
0 20w w0 s s 1m0 s %
second
0 3.34: 0O00ooooo 2
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40 OO

4.1 O0O0O0O0OOO0OOOOOO0

00000 ¥YNeOOOOOOOODOOOOOOOOODOO,0000000000000000
0000000,00000000000000000000000. ¥NeOOOOO D,O000O
00000 B, 00000 NOOOO,YNe00000000O0O0O0OO0OOOOOOOOOOOOO
go.

N<
ug410,000000b000booooooooboooboooooooobbooooO,oobbooo
BNeODOOOOOOO0OOO0OO.000000D0ODOOOOOOO0OOO0O0000000,00000
obooooboooooobooooon.

B D?
- (4.1)

041: 00000 ¥YNeOOOO
oooDoooo

3.1 2.14 1.0 0.1

3.52 | 292 | 2.00 | 0.63
1.57 | 1.31 0.89 | 0.28
10 | 1.11 | 0.93 | 0.63 | 0.20
100 | 0.35 | 0.29 | 0.20 | 0.063
310 | 0.20 | 0.17 | 0.11 | 0.036
1000 | 0.11 | 0.093 | 0.063 | 0.020

o= | 2

4.2 O00U0OO0O0O0oOoObOoOooooon

YNeOOOODOOOOO¢+=000000000000000000000000000,0
goboooboooooob 200boobboooobooobboooooobbooobooobboo
gbooooo. oo, ooo0boooooa.

000 Tt=00 A00O0O00O0OO0OOO0OO0O0 t OO0 OOOOOOOOOOOOOOOOOO,

tobs AT
Nall = A2_tt/Tdt = (1 _ 2_tobs/T> (42)
0 log 2

ooo.
0o0ooO0o0o0 10000000000 (O0D)D 1000000, 0 42)00000O0O,

tops = 40 sec
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A = 9.36+0.41 cps
T = 13.0£0.89 sec

00o0ooo0O0oooon,
Na = 154 (4.3)

oo, 00oooboog, oo boboooooooooo.
00, 0000000000000 00000000000 tene 0000, 00000000
ooooooono rRO,
AT (1 — 27 tovs/T
- ( ) (4.4)
10g2(tobs+tothe7“)
000,0000000 (tother =40),R=19250000. 00000000t 0000000
00000,0000000,

Rz = R(totheT = 30) ~2.0 (45)

gooo.obooobooooboooooooooooobboooobobo,boooobboooobboo
gbobobobooooo,0obobobobobobobobOobOobOoboon. DO fother
gbooooooboooooobo,bobooooboooog.

4.3 0OOOOOOO

0O BO Poisson 000000000000 0O0OD,0000 ROOOO¢t0O0O0O0O0O0OOO
o0.000bogpgoO20000000000000DO0OO0ODO,

Ny = RA+p)+B+(R(1+8)+B)/t (4.6)
Ny, = RA-p)+B=++/(R(1-3)+B)/t (4.7)
Ni— N, = 2R3+ 2R+ B)/t (4.8)
N, N, 000000000000 20000000,
2R3 >2x \/2(R+ B)/t (4.9)
000D t000O0O0O00OO,
t>2(§2—;28) (4.10)

gboooooboooboooooon.

4.3.1 ODUOO0O0O0OO0OOOOO0OO0OOODOOO

0000,00000000000000 ¥NeOO05cpsO0000000,000000000
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